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t.5., .t,t ,l.llt26t0 tnqrquurl qyribrlur6p 0i)0 UU !q 0.60 550.0 330.0c
c)nr1u1mh,11tutrr.{ru,!p 032 Lru \q 0.72 107.0 77.04

?$Ln) 'llrryrlururk qlurLLluip (4llfi tJll !q 0.54 210.0 113.40
44ilr(i90 ttolpqruurii qgrb{utp fi 45 tu6 !q 4.65 231.1 r50.22

$.1.r8 44112{i9i) tlnqrtluurh qlurl(urtp 6511 LUd trq 0.86 33.2 28.55
44ri]690 Inrirqruurb q.ltulr{urlg Q)56 tlUd q+ 0.86 416.3 358.0i

loqrlrrMb qluL{lurdp 063 LUd {14 0.63 560.8 353^30
441 

']600
akrrplLuu:h qlrtrrJutg rpTl) hu6 Qq 0.s6 400.0 344.CIo
$11ur1tr,q1uU(ur6p 080 LUd lll 0.&0 200.0 172.00
'1)_,),lulo{itr qtut,4tutp 1190 tu6 q,+ 0.86 125.7 108.10'lrrluluah qluitr4l!ip (, 120 t1r6 !q 0.gu 181"1 155.71:li 4{ll?ti90 't)rrlLquurL qpu!r{urig [4190 hu6 !q 0.$6 575.7 495.rC
qrqujurrn punul,iltrrh 70 x 7() UU ltq 0.75 353.0 264-74

,l453il!11 hnlrrr[Lu! 02h3 lud dbrp 1.xt 66.2 7c.44
{453i19tr ttnrytt)ul1 $)ltx2,B ttu tltimp 4,$0 20.0 on nn

i-?1t91 urnlnLlurlt 031x3,5 kud rlhon 1.10 24.3 29.16.urrlnlir! 
048r3,5 tu6 tltiurlr 1.20 200.0 240,00

l,ruln qqrq hu6 rlLurJr 1.20 r0.8 12.96
4,111t!:iil,l t?)fr1al,q S=2 hr16 ttc 0.65 175.7 114.21
441t93til hps,l tu6 tt.t 0.65 325,7 211.71

1.it.t.;t4 ,{.1116t10 Ohtal,t S-o hur liq 0-60 1050.0 s30.00
44r1fJ310 '*fr;aLrg S"B lu6 tlq 0.60 375.9 225.54

?fpb1 S=10 tud Liq 0.63 320.3 201.79
Iilfirlrl $-12 uu !q 0.54 204.a 110.16
lrgi UU tt,t 0.54 325.0 r75.5t

441tB31tJ (0itpbrg $=10 turS qc 0.63 381.2 ?.40.1
1,1r.,.40 ?hpb,1S*24 hu6 liq 0.63 1600.0 1,008.00

"lrpht 
S=30 hud Itc 0.600 7s0.0 450.00

A'f pt,r1S-36 tIu qq 0.660 180.0 'r18.80
.nrqu 646; llobel lu6 f,rn 1.3011 422.0 550.00

448J1S00 ,nr6fr1 646, Mohnl tu6 \q 1.495 600.0 897"00
3r./,liti0 {mnnr} (r:J MON0i"l'lll tud !r{ Ll00 2000.0 2,200.00
4.18i1300 i.Jrut Xll-518 hllrJ qq r.500 60.8 91.)-0

iLLrlpuilfr uirlr{ nburlrLLrlrni LU6 Itum 5.000 100.0 500,00
riiurlllr utrlrL{ nburirlwhn0 LU6 huur 0.000 60.0 0.0c

I2,682.83irq.l.S 2efrfnrn

1.5.!.1 44'r2690 llrluluurL rlgrulr{n8p 40X, 010, 26011 tu6 It,l 0.6s 162.0 105.30
44il)690 )ttrlLlurnb qluhlLu6p 4$. (r16, lSLI l:ur llq 0"65 29.0 | 18.85

)nyggrb.pfrphrl 65r', S-0,8 hud qc 0 I 0.00.|431S000 
lLuurrtlL d&uurlugLup fl65 ?_,1;45 BSII tud !q 0.600 4.3 2.58

0;l$,40{.1 hrnqlr duq TY17-15-20,91
hr.16 !q 17,5A 0.8 14.0C

u4.73
1.5.3

4t!(ll)
u+nnr.,guenrqi

r.5.3.r 43tjtll30 ltunryI[u!OtB hrJ6 rlbup r_200 20.0 24.0C
4411'!694 llnqqururli qluLr{uip Cr 45, 05, l)rl hud \q 0.70 t.g 1.33
4411269n rlntqusit qlobrturbp Cr 4Ii, 06, 36d Lu6 \q 0.70 8.0 5.60

83r0 rlnq.r4umti plrptq Cr 45, $=1,2, 3 d lur$ qq 0.65 30.0 r9.50
lnqrlurnt 1ofr1abr1 lir 45, $=5, Lll6 Itq 0.65 80.0 52.0C

3.0 44 r t:i7t I lLup l16J.t 1,6-45 tu6 tiq 0.50 0.8 0.4c

i514il00
353,{1103

h.urqir durl'lll7-t5-2(f 91, funiluhu! 7,62 qq r8.50 0.5 9.25

i.1.3.9

utB,402.08.01,00 UU hum 6.30 200.0 r,260.00
U tnrulgtlurl +t,uullr trulruuprupuuut{tr6p, 160.00.0} uu htrs 6.00 200.0 1,200^00

35341'00 Uhuuqu!uI rit;uru1f !urluuqumpnuudui$, ryr 2 tu huur 7.00 s7.o 67g.At
3,?51.08

1.5.4
12,7 LIf LU{

qlrtlurgph

duulu(liLI oqdl
lu6

frrr'ry4uuli pir1rb150 PA Ty tn.1..2i;87-7ll S-1,0 LUd qq 2"1& 600_0 1,309.80

1.5.5
qqtJll2

r{(14}nhSUL,

,.5.Ii JIi{1rtl,url1 50X50X5 UU l.l+ 0.44 10742.4 4,769.63t.i.\ "J JLl4nrLu! 50X5OXi hu6 Lq o_44 23480 10,425.1
r.5.r.ii fDf labq ulnryLtluulu S-8 Lru !q 4.47 8475 3,940.8e
t.5.5.4 {dnl11q llqlli1uniu tufi !q 0,47 18432 8,570.88
1.5.5.5 44IB3t0 illltl l1lrr1utuutur s=lt hur lq 0.54 560 302.44

4,lll83{0 3lyb1ql1quq1u s-3 uu qq o.47 5487 2,365.46
ri llplrt ulr|{qL0urlur tud !q 4.47 110r6 5)22.44

44rrd3,0 ?frptirl qnrlquuyu S-? tju Liq *.47 1574 730.05
t411t310 9!ta!1*n11wLum1u $.:l LU6 tn 0.47 339$,'l 1,578.72

i.5.5.10 44r6JIgu x0x40xx UU rJbmn 0.s3 1 1?A 1/



,.5.5.11 445311l)r lun4ni{u! ulnrlqumlu 20X40X2 kud rlhmp 0,93 2964 2,736.52
j {t.li.t2 {4]]:761 .{rttrn N5 LUd qq 0.54 8915.?B 4,814.25

t.5,ri.r:l 44112/61 SrlllLp Ns UU qq 2-764 4161 t1,760.36
1i.5.14 4dr12761 5rll,rhfi N6 LU6 qq 2.760 9214.4 25,431.74

1,ii.1t.15 ,14,631lt0 "url,rrt{ulll p70x4 uu dbup 3.60 66 237.60

i.:i. a).1(i 44531191 uil{nllul.{ O;r6X4 hud tJbLnp 3,60 144 518,40
ti, Iti.i lnll rn(n(lutl 643.3X4 UU 0bsn r.98 6i 166.32

I 5.5.18 41t;3tl9t unrirultu! 0,12.3X4 hu6 dbup 1.98 r86 368.28
1 lt.li 

'i)
3r7I1iit) rtitrurnrr 63 M0NOLlll { UU |tc 1.10 200 220.00

l.ll.1.li0 4{iiil2riu iriJrurrlrlur! q (.JU pu!ruqrl 330.i) 4 1,320.00
:i.J.?t 4.153r260 JLllurgrluL rllurultrbp LU6 pu!uqrl 390.000 1 3S0.00

445XlldI rInf uttlptugtiult qu.rnwL, ulnrp N2] {tiu pu!uqrl 720 2,052.00
1.5.5.:3 44531220 -ntihr P4 lu6 llrun 1.60 350 560.00
1.5.5.i.4 44Il143tj ,itp! {i:du$ XB-518 LU6 qc 2.00 1000 2,000.00
1.ti.r.) {?4t ll 0t) :11\upuQu! 6nrquLLullurpurqfrl.l <.uu huur 162.00 80 12,960.0C

r.i,5.2t) 421{r lB0 1b!LrrpLu!LtrL {rnulurLuitiulruqhtl Itri hurn r62.00 t7?, 28,026.0C
i.t.5.)7 4)n1ri00 lbpurUlr!uliuL dnquLLu!Lupurqlrll {IJ1J hulrn 66.00 BO s,280,0c
r.i r;.?ti 42t4fi80 U Lluur!f rIrrtlut drrquLu!ulruqlr\ LU6 hum 66,00 173 r1,418.0C
1.5.t.2t 441rlrii)rl 'lnnqumli qrirlduip 016. Cr 45 lJu liq. 0.54 r68 90.72
1.5.5.10 4411)690 'llnrlrilrrurL rl1oL(urdp 61$, Ct 45 hud \q 0.54 369.7 r99.64
1.5.5.3 44ll?69r tnryquub qlurLrfLu&p 618, Cr 45 UU tq 4.54 3) 17.28
r.r.5.31) .1tlt?h90 rqnqquurL qlru!Uuds 6i8, Cl 45 ku6 qc 0.54 72 38.88
t.5.li.Jl 441126t)$ rylnqurunl qtulrludp 632, Cr ,15 u11 \'| 0.54 l5? 82.08
,,5.r.:r4 141t 6at0 4nnrqunL qruir{u6o Q32, Cr 45 lu6 Itq 0.54 340 ,83.60
1.1i.li.3:i 44I:$90 'r)rqqururL q;ulr{u6 g 040, * Ab uu qc 0,54 540 291.60
r.5.5..3f, 441i2090 lrrqujuurti qiutrt!6B d40, Cr 45 LU6 L{q 0.54 r 9r.86

5,5.37 44441200 inulrqpurlturr N,80502 T0Cl BB82.75 (uu huur r.50 480 72A.04
t.t.5.38 414.112$t) tDrrrirrll*rl1r11 NlBt)502 I O(:l HuB2-75 LtI6 huu (j.74 1038 726.64
r.r.5:q 44:)22,\2$ 'Il11!&L lrurry'1rr1ur1u1r lxt6, lrurqdudlr (uu rlbup r.50 480 720.00
t.5,5.40 443r.1.250 4uIInfqruLulf 1xl6 hu6 r.lbup 0.81 540 435.24
i.5.-\.41 44.\2D24 'llrtldb hur.ptl.lurtulr 1x2,5, puqdudlrl <uu r.lkup 4.2 2400 480.00
.5.5.42 443111.&0 (uprrlrrlurlup 2rl LU6 rlbmp 0.r0 1200 r20.0c

1.5.5.13 4416123{) hrnqn{urlllbpf bnu4ur!2f 1 LU6 huu 0.30 310 s3.0c
5.5.41 44\i)12?,t) Itrrrpr{urlllrLpf r udrllnrtrull LUd huu 0.).4 155 31.0C

i.ri.5..15 3!L'ilt4u tlulorhn(f1Lbp ?4 rlnpr, 3 udqbl UU huu 0 80 0.0c
1.5.5.4ti 3r?11 1,10 Uquhnr.{f1 LU6 lF uJllu,qd 1A 7c

.5.\.41 Jr21l22l 1L!rnpurllurl urtrgurufrl <tJu hus 2.40 &0 192.0c
I.lt.5.ilB 3r52Jt70 .nruuqlrnr,ulfrl duiulu{hl 24 $lm 4U1l rltiup 2.90 40 116.00
Llt.i;.10 3(i)r5i{) -ntrr[rqhn4!u]h! d aulu{bt1 LU6 dburp 2,44 12 28,BO
1.ii.5.50 3911r2500 lbprlurlt !nrultl hu6 rlbup 0.80 20 16.00
1.5.5.51 :i9812500 ?bptlurdb!rtulrl tu6 rlbmli 0.60 50 30.00
, t, l;.lj:l 44423100 2Lubq ?4 L[n1m, !n6url;n( <UII huur 2.00 80 t60.00
1.1.5.:13 :il2il10 2uhq !n(rru\ntl r-u6 huol 1.96 343.00
r.t.1,.5.1 'j12112]| lurLqfr llniurll (morxa) UU huu 0,25 80 20.00
r.5.5.55 4.1511?tr0 Phrfr uilJruqdub rqurpu:! LU6 pur!wqrl ).85 r600 4,560.0c
1.5.5.r0 4453r?60 l-1hnh udfiuqLlu! rq0|trrli uu muqurqd 1.70 160 272.0C
r.5.5.5ir 4.11')31)ti0 Ptjnf tr{trurgd0t klulrdu hurs muqulCd 1.70 840 1,428.0C
,.5.Ii.5t] 441i31?ii0 lirlilrlr urlJrurgrlur'tr uiurlu! LU6 mulluqd r.70 1060 r,802.00
1 5.It.59 4452116{) Ihuriuqlur 2r11oru t-u6 rJburtr 300 396.0C
1.5.5.00 3!|?65100 :qpuJul.iurr.l LU6 hwu 4.r0 215 881.50
l.5.ii.6l 3r265r01 :rlFurJu1llulil1 UU hum 4.i0 100 410.00

44)1)111 slrlh <t.lu huru 0,07 506 35.42"
5 It.ri"t 4452il80 {,nl1lr1 urrfrrLl (uu huur 0,25 2s3 63.25
5.5.r'i4 :1t))21.i60 lrdlrL {funqu:!u!) N50 UU hum 0,5 30 1 5.00

i.5.5.65 3r2ll2]r l!9umf1 lrp6ncp) <uu huun 0,25 80 20.00
1.5.:i.(t6 312$)21 {ty*6rep} tu6 hum 0,25 175 43.75
1.!,.5.41 46fi2$$Q :t,ntntuI t]0qnrlrti 616 (uu dbmJr 0.10 560 56.00
1.5.5.68 4411184t finqnpLu! \uqpnlh 61li tiud rlhurlr a.a4 700 5BB.0C

t.5.r.69 4411'1800 SnqnpLuQ l.lLuLqpnLb 010 tud Llbmp 0.84 r400 1,176.0t
r.ii.t.lli 33i1r?30 <.ur{nnr}rutrsnf au.!Froqullbn, $Jqldb 35 drl (tu huu 0.85 160 r36.0c

5.li.7l 33iil?30 rf iu3pu!LulLbp ku6 hum 0.20 175 35.0C
1.$.5.72 395316r',Jr) lf hhuuruquL qnlq (xonpoaurr) (uu d2 3.00 96 28B.OC

r.5.r.73 3r53ttJ011 lphbu0ruquti qnfq ( ku6 u3 1.80 192 3{5.60
1.5.t.?4 44221141 lrtLull UU, huu BO 0.00
r.5.r 75 44521ti0 .rhmIqu,llu,l ?{pu 4UU dbofr r36 299.20
t.5.5.70 )41)r0000 lnuf!tr F,J4 LU6 qc, 1?.00 90 1,080.00
1.5.r.77 .145rr150 riurpourl {lltlu2nrpF) <uu huu 3.000 5 15.00
1.5.!|.iB {45}')40 lpgutr huu 3.000 3 9.00
1.5.1;.;ra 445il70r) :.unpLUrflrpF {uu huu ).500 10 25.00

168,703.05

1.5.6 'lupu\u7up

r.5.6.1 44fir$90 rl; qlwLr{u6p @8, $OUS 2590-88 Cr35 hu6 tiq 0.760 17.94
r.5.6.2 ,{4I}6t0 {rrriu.iuurh qlutrrlur6p @10, qouS 2590-BB Cr35 hu6 ti+ 0.630 7,4 4.6€



1.5.i.r 44ll?6!10 'rkryquurli qluL{urlp 012, AOUS 2590-BB Cr3 lud !q 0.525 42.6 2.2.37
4411269t1 tlrrrlulururb tl1dr{Lu6p 016, a0US ?59ff88 Cl33 hu6 qq 0.750 123.2 92.40

r,5.0.:i 44fi2690 '1)nqrquurb quli{ur&p 016, A0US 2590-88 C13 hu6 liq 0.525 9.5 4,99
1.5.6.{i 441r2ri$0 unh qlLutr{uip 016,90US 2590.88 Cr3 Ltl6 t{,} 0.5?5 24 12.60
1.5.6.7 ..'4ll)$90 't')nrlqumh qlulrlu6p 020" A0U$2590,8S Cr4"tr hu6 !q 0.75A 29,6 22.24
1.9.6.{, 4.,1ir)6!0 rlrrpputi qur'u{uurip 0?{r, (r(1US2590-88 Cr45 l1lfr \q 0.$40 1t6 61-.64

a.t.9 41t12690 lirb qlwlrlod8 O3o, +OUS 259(L&ti c13 tu6 l.tq 0.525 33.3 17.48
r?690 'llrrluturrb qtuii{u6p 040, c}0tiS25$0"88 Cr45 hu6 l.tq 0.485 177 85.85

441t2ti'JU tlnryulwu& qlutri{urlg S4?, $0US2590-BB Cr45 11.ld !q 0.750 160 120.00
44ll2ttgl 1')nr1u qlarh(lurtp 045, elOUS2590-BB Ci45 lu6 qq 0.540 599 323.46
.44t12690 4,ltqiqLuurti qluh{urdp 050, 40US25!}0-Il8 Cr45 LUd qq 0,695 385.73

i.5.6.,4 {dlr?690 .0u/oullt^rrl1 814 qOUS259,-7i Cr3 htl?S Ir,1 0.684 I9 13.0{
6 4.11l2rlQ{) Funur\nruf Sl0 A.0tiS1t5lll "irt Cr3 Lu6 \q 0.650 I3? 85,BC

.141t)660 .fiunulriuh l]40 .l0U$ 2501-71 CrtJ lu6 tiq 0,600 t5t 90.6C

.141183r{',) 'I:nluluruIu ;a[pbq 82, C1'3 tu6 !q 0.460 864 397,44qlnqqLuulur plrplil l)".l, C l3 ruil tlq 0.460 384 176.64
5.6.r9 ,r4 ilE:Il.) 1')nqqlrrnlru plrptrrl 84, CT3 trlrt \q 0.480 409 r92.00

t.5.(;,;t{) .145.i119) rr}rtliiuurjr! 
lalrlrha 85, CT3 tu6 It+ 0.480 't26 156.48

44ai3ll9t {ioqtlurrrlo pfpLq &$, CI3 l(rd Liq 0.480 864 414.7)
1.t;.6.?2 445:t|91 qntquutu pilph U6, CT.l LU6 ttq 0,,r80 57$ 276.48

44!.Jr t91 'rlnqrllururlr! trhf{L.r fil0. C1 } hud !q 0.400 720 345.(
n)rqquulw pfpLrl B)i,0, CI3 kud !q 0.550 )44 134.

B.)5 'r.15]Igl Inquiuuyr pfrplrl L)1 651- LUd !q 1.827 9.50
l.5.ri.2ti 44t31191 4inrI rpr pfpkrl Bl,5 651 hUi5 Ltq 1.800 7 12.64

s.6.21 445t,,91 Iwulmlur\ l5x?r(i0()0 tu6 rl 0.400 r8 7.n
r.5.{r.irt1 44531191 irrrl{u! 57r€x6000 ku6 u 4,500 34 2$"AC
1 !,.t;.29 4n!3 119' lvn4n{rr11 25r25r?.5 hu6 0.640 264 168.9€
,.5.6.30 .1453'101 r! 60x60x3 ul6 tl a.A7A ] I96 558.36
1.5.n.3i 4453119r unllll{ul{ I00xl00r4 hud d Q.475 156 74.14
r.5.6.31 4453119r ! l20xl20i5 hutr d 0,475 240 114.00
1.ti.ii.3:1 44$X76$ ulfunruuq 640x{0x3, CT3 I irt ttq 0.450 348 156.60

44112761 ;t{L1trl 12 CT3 I hU6 !q 0.380 75$ 286.9C
4433r.t00 q)5

LU6 ttq 0.00
443:.r1300 1-30 qous t7305.7t,01, cT30 hu6 qq 0.400 3 1,20

1.n.6.37 r 86t r I00 rphqliL0
hu6 d' 2.960 75a | 2,220.A0

1.i.0.3u rB6t il00 :pbqhl,in
LUlf hurrt 309.500 I 3,r16.00

1.5.(i.lrt, r520 h1 liSl.lul, lln6nrl LU6 huur 1.000 I g"0c
1.5.t.40 39541t70 dnujsL q11.5

tiU6 d 0.r50 35,1 5,2?
r.i.6.,1, Jr1ra117O lUbrnu,qw6,,utub 4.fn.B ,l.O H T.l7l0 LUr d 0.160 | l43l 2?.8.96

1.5.ti.,13

3.954I70 12-r,B-C^H.lt.'f ..1?7 a LU6 d 0.790 2)!t-t 18r.31
44t')t234 lihurq kud htuu 0.330 324 146.92
3iti41 1".t2 

I 
5nq'0Llnurl\h:

LU6 h00t 0.t40 't0B 15j2
1.5.6.45 4,15?1100 l0ryau6,i-Bx?B LU6 U t.150 35.r 7\A
1.5.6..16 4a5rll60 lUrrnullP-38.1-t2700 hu5 d r4.4S0 35r 5,064.9:

5.b.47 Jr7llt60 lltr!$nn+.!3 hud !q r.100 810 891.0C
l.!.6.43 '14I14r7 l.,uluuLbpt1

Lu?s ti+ 2-000 150 300.0r
1.t.6.49 ,1411t436 lutqr\ (lrlurf XR-518 ull ttc 1.980 100 198.0C

44'l1436 tulp! (fiLlnrg X&-518 h(ID !q 2.000 300 600.0c
44t},1t500

lnrnhr P-4 (ti46) tufi thur' r.600 350 560.0c
l-;.6.t? /,4$3t501

-nreht P-4 (6ag) hu6 f,rn ,.600 175 280.00
,.5.{l 53 Ittufl0 Flb,4 ku6 \q 6.000 1,4 684.00

1u[ 3110.00 tud qq 32.400 (),I 3.24
.14r1$200 $urI 11x65.01.10 hu6 !q 1.'6i) 16,0 r9.4E

r,5.ti.56 44i;31260 Ilnugdul rltiuruitrhn. hu6 yrur!wqrl l,r!,500 I 149.5C
l.5.ti.til 317114B0 hqp (urr4fr)3r0x20 qo{JS 3128-70 Lu6 hrum 0.010 t0B r,0B
I li.(j.!B :nUp (rrrxO)) tir6x50 90US 31?B-70 ku6 hutrr 0.0r0 10s 1.08
5.6.t9

5-,r;,)
Iirlrtaiul.] ?I1 6QOtJS 397-7!.1 lu6 hum 0,030 54 t -ot

3iTll4litJ i:;1lr1oLo! 2,5x20QO(lS 397-79 hu6 hum 0.030 864 15.92
:it?fi480 iinhr+ruh 3.2x22 Q.OIJS 3t?7-7, hLld huun 0.030 2t6 6.48
44192:U0 6urtrlluhfr{rri{ durlb\u4lrl pululfr N ?4 huI hu:ut 1r.11t 27 300.0c
4,11t269t] {lnryrluunli qpubr{uiB 08, qOUS 2590"SS Cr35 UU Qq r.340 ,3 30,82
44111690 !ilr}rlLuur[r qulrt]ra]p 010, e6US l390,SS Cr3S tru tiq 1.340 7.4 o o')

1.5,6.{'5 ,14r,2690 I)rrltqrurti eLulllurlp 0i2, $0US 2590-BB Cr3 uu qq 0.670 42.6 28.54
1.5.6,ti0 4,iltr690 {nry]uuh qlutrtfr6p 016, COUS 2590-88 Cr35 uu qq 0.710 r13.? 87.4i
1.5.d.[7 nnqttluuh qlurbrlurSp 6t0, $0US 2590-88 Cr3 uu !q 0.600 o^ 5.70
t.5.ri 6tJ ,rtrqquruh qlurLrlur&;1 018, e0US 2590-88 C13 UU liq 0.600 24 14.40
5.i,{t, ,r1r2tiu0 '\ntquwh,qlurln{urip 02t), 1OUS2590-BB Cr4S rJu qq 0.710 :9.6 21.02
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